# Analytical approximate solutions of systems of differential-algebraic equations by Laplace homotopy analysis method 

## R. Al-masaeed and H.M. Jaradat


#### Abstract

This paper presents a numerical technique for solving system of differentialalgebraic equations (DAEs) by employing the Laplace homotopy analysis method (LHAM). The biggest advantage over the existing standard analytical techniques is that it overcomes the difficulty arising in calculating complicated terms. Numerical examples are examined to highlight the significant features of this method. Moreover, the solution procedure is easier, more effective and straightforward.


2010 Mathematics Subject Classification. 74G10, 34A09, 65180, 44A10.
Key words and phrases. Analytic Solution, Laplace transform, HAM, differential-algebraic equations.

## Introduction

Differential-algebraic equations are normally obtained when modeling chemical engineering systems. Chemical processes are modeled dynamically using differentialalgebraic equations. Chemical processes are inherently nonlinear and multivariable and are typically modeled by coupled differential and algebraic equation. A system of DAEs is characterized by its index, which is the number of differentiations required to convert it into a system of ODEs. DAEs with index $>1$ are generally hard to solve and are still under active research.

In the past decades, both mathematicians and physicists have devoted considerable effort to the study of explicit and numerical solutions to DAEs. Many powerful methods have been presented [1-16, 19].

The subject of DAEs has researched and solidified only very recently (in the past 35 years). Through many exact solutions for linear DAEs has been found, in general, there exists no method that yields an exact solution for nonlinear DAEs.

The objective of the present paper is to modify the LHAM to provide symbolic approximate solutions for linear and nonlinear differential-algebraic equations. The LHAM is a combination of HAM $[17,18]$ and Laplace transforms.

Therefore, in this work we will introduce a new alternative procedure for solving DAEs. The newly developed technique by no means depends on complicated tools from any field. This can be the most important advantage over the other methods. It is worth mentioning that the proposed algorithm is an elegant combination of Laplace transform method and the homotopy analysis method. Some DAE are examined to illustrate the effectiveness, accuracy and convenience of this method, and in all cases, the presented technique performed excellently.

Received April 16, 2011.

## 1. Laplace Homotopy analysis method

In this section, we employ the Laplace homotopy analysis method to the discussed problem. To show the basic idea, let us consider the DAEs

$$
\begin{align*}
u_{i}^{\prime}(t) & =f_{i}\left(t, u_{1}, u_{2}, \ldots, u_{n}, u_{1}^{\prime}, u_{2}^{\prime}, \ldots, u_{n}^{\prime}\right), i=1,2, \ldots, n-1  \tag{1}\\
0 & =g\left(t, u_{1}, u_{2}, \ldots, u_{n}\right)
\end{align*}
$$

subject to the initial conditions

$$
u_{i}(0)=a_{i}, i=1,2, \ldots, n
$$

where $f_{i}$ are known analytical functions.
Applying the Laplace transform to both sides of system (1) and using linearity of Laplace transforms we get

$$
\begin{aligned}
£\left[u_{i}^{\prime}(t)\right] & =£\left[f_{i}\left(t, u_{1}, u_{2}, \ldots, u_{n}, u_{1}^{\prime}, u_{2}^{\prime}, \ldots, u_{n}^{\prime}\right)\right], i=1,2, \ldots, n-1 \\
0 & =g\left(t, u_{1}, u_{2}, \ldots, u_{n}\right)
\end{aligned}
$$

we get

$$
\begin{align*}
U_{i}(s) & =\frac{a_{i}}{s}+\frac{1}{s} £\left[f_{i}\left(t, u_{1}, u_{2}, \ldots, u_{n}, u_{1}^{\prime}, u_{2}^{\prime}, \ldots, u_{n}^{\prime}\right)\right], i=1,2, \ldots, n-1 \\
0 & =g\left(t, u_{1}, u_{2}, \ldots, u_{n}\right) \tag{2}
\end{align*}
$$

where $U_{i}(s)=£\left(u_{i}(t)\right)$.
The so-called zeroth-order deformation equations of the Laplace Equations(2) are

$$
\begin{align*}
(1-q)\left[\Phi_{i}(s, q)-U_{i, 0}(s)\right] & =q h_{i}\left[\Phi_{i}(s, q)-\frac{a_{i}}{s}\right. \\
& \left.-\frac{1}{s} £\left[f_{i}\left(t, \phi_{1}(t ; q), \ldots, \phi_{n}(t ; q), \frac{\partial}{\partial t} \phi_{1}(t ; q), \ldots, \frac{\partial}{\partial t} \phi_{n}(t ; q)\right)\right]\right] \\
(1-q)\left[\phi_{n}(t ; q)-u_{n, 0}(t)\right] & =-q h_{n} g\left(t, \phi_{1}(t ; q), \ldots, \phi_{n}(t ; q)\right), \quad i=1,2, \ldots, n-1 \tag{3}
\end{align*}
$$

where $q \in[0,1]$ is an embedding parameter, when $q=0$ and $q=1$, we have

$$
\begin{aligned}
& \Phi_{i}(s, 0)=U_{i, 0}(s), \Phi_{i}(s, 1)=U_{i}(s), i=1,2, \ldots, n-1 \\
& \phi_{n}(t ; 0)=u_{n, 0}(t), \phi_{n}(t ; 0)=u_{n}(t)
\end{aligned}
$$

Expanding $\Phi_{i}(s, q), i=1,2, \ldots, n-1$ and $\phi_{n}(t ; q)$ in Taylor series with respect to $q$ we get

$$
\begin{align*}
& \Phi_{i}(s ; q)=U_{i, 0}(s)+\sum_{m=1}^{\infty} U_{i, m}(s) q^{m}, i=1,2, \ldots, n-1 \\
& \phi_{n}(t ; q)=u_{n, 0}(t)+\sum_{m=1}^{\infty} u_{n, m}(t) q^{m} \tag{4}
\end{align*}
$$

where

$$
\begin{aligned}
U_{i, m}(s) & =\left.\frac{1}{m!} \frac{\partial^{m} \Phi_{i}(s ; q)}{\partial q^{m}}\right|_{q=0}, i=1,2, \ldots, n-1 \\
u_{n, m}(t) & =\left.\frac{1}{m!} \frac{\partial^{m} \phi_{n}(t ; q)}{\partial q^{m}}\right|_{q=0}
\end{aligned}
$$

If the initial guesses and the nonzero auxiliary parameters $h_{i}$ are properly chosen so that the power series (4) converges at $q=1$, then we have, under these assumptions
the solution series

$$
\begin{aligned}
& U_{i}(s)=\Phi_{i}(s ; 1)=U_{i, 0}(s)+\sum_{m=1}^{\infty} U_{i, m}(s), i=1,2, \ldots, n-1, \\
& u_{n}(t)=\phi_{n}(t ; 1)=u_{i, 0}(t)+\sum_{m=1}^{\infty} u_{i, m}(t)
\end{aligned}
$$

For brevity, define the vectors

$$
\begin{aligned}
\vec{U}_{i, m}(s) & =\left\{U_{i, 0}(s), U_{i, 1}(s), U_{i, 2}(s), \ldots, U_{i, m}(s)\right\}, i=1,2, \ldots, n-1, \\
\vec{u}_{n, m}(s) & =\left\{u_{n, 0}(s), u_{n, 1}(s), u_{m, 2}(s), \ldots, u_{n, m}(s)\right\},
\end{aligned}
$$

Differentiating the zero-order deformation equation (3) $m$ times with respective to $q$, dividing by $m$ ! and finally setting $q=0$, we have the so-called high-order deformation equation

$$
\begin{align*}
& U_{i, m}(s)=\chi_{m} U_{i, m-1}(s)+h_{i} \Re_{i, m}\left(\vec{U}_{i, m-1}(s)\right), i=1,2, \ldots, n-1  \tag{5}\\
& u_{n, m}(t)=\chi_{m} u_{n, m-1}(t)+h_{n} \Re_{n, m}\left(\vec{u}_{n, m-1}(t)\right)
\end{align*}
$$

where

$$
\begin{aligned}
& \Re_{i, m}\left(\vec{U}_{i, m-1}(s)\right)= U_{i, m-1}(s)-\frac{1}{s}\left[\frac { 1 } { ( m - 1 ) ! } \frac { \partial ^ { m - 1 } } { \partial q ^ { m - 1 } } \left(£ \left[f _ { i } \left(t, \phi_{1}(t ; q), \ldots, \phi_{n}(t ; q),\right.\right.\right.\right. \\
&\left.\left.\left.\left.\frac{\partial}{\partial t} \phi_{1}(t ; q), \ldots, \frac{\partial}{\partial t} \phi_{n}(t ; q)\right)\right]\right)\left.\right|_{q=0}\right]-\frac{a_{i}}{s}\left(1-\chi_{m}\right), i=1,2, \ldots, n-1, \\
& \Re_{n, m}\left(\vec{u}_{n, m-1}(t)\right)=\left.\frac{-1}{(m-1)!} \frac{\partial^{m-1}}{\partial q^{m-1}}\left[g\left(t, \phi_{1}(t ; q), \ldots, \phi_{n}(t ; q)\right)\right]\right|_{q=0},
\end{aligned}
$$

and

$$
\chi_{m}=\left\{\begin{array}{ll}
0, & m \leq 1 \\
1, & m>1
\end{array} .\right.
$$

Finally, applying the inverse Laplace transforms of (5), then we have a power series solution

$$
\begin{equation*}
u_{i}(t)=\sum_{m=0}^{\infty} u_{i, m}(t), i=1,2, \ldots, n \tag{6}
\end{equation*}
$$

Note that we have great freedom to choose the value of the auxiliary parameters $h_{i}$. Mathematically the value of $u_{i}(t)$ at any finite order of approximation depends upon the auxiliary parameter $h_{i}$, because the zeroth and high order deformation equations contain $h_{i}$. Let $R_{h_{i}}$ denote the set of all values of $h_{i}$ which ensure the convergence of the HAM series solution (6) of $u_{i}(t)$. Let $h_{i}$ be the variable of the horizontal axis and the limit of the series solution (6) of $u_{i}(t)$ be the variable of vertical axis. Plot the curve $u_{i}(t) \sim h_{i}$, where $u_{i}(t)$ denotes the limit of the series (6). Because the limit of all convergent series solutions (6) is the same for a given $a$, there exists a horizontal line segment above the region $h \in R_{h_{i}}$. So, by plotting the curve $u_{i}(t) \sim h_{i}$ at a high enough order approximation, one can find an approximation of the set $R_{h_{i}}$.

## 2. Applications

In this part, we introduce some applications on LHAM to solve differential-algebraic equations with fractional derivatives.

Example 1. Consider the following system of linear DAEs :

$$
\begin{align*}
u_{1}^{\prime \prime}-(t+1) u_{2}^{\prime}-t u_{1} & =0 \\
u_{2}^{\prime}+(t-1) v+u_{1} & =(t-1) \exp (t),  \tag{7}\\
v-t u_{1} & =\exp (t)-t \sin (t), y_{1}(0)=0, y_{1}^{\prime}(0)=1, y_{2}(0)=2, y_{3}(0)=1,
\end{align*}
$$

the exact solution is $u_{1}(t)=\sin (t), u_{2}(t)=\cos (t)+1, u_{3}(t)=\exp (t)$.
To derive the solution, take the Laplace transform of both sides of (7) we get

$$
\begin{aligned}
s^{2} U_{1}(s)-1-£\left(t u_{2}^{\prime}(t)\right)-U_{2}(s)+2-£\left(t u_{1}(t)\right) & =0 \\
s U_{2}(s)-2+£(t v(t))-V(s)+U_{1}(s) & =£((t-1) \exp (t)) \\
v(t)-t y_{1} & =\exp (t)-t \sin (t)
\end{aligned}
$$

or

$$
\begin{aligned}
U_{1}(s) & =\frac{1}{s^{2}} £\left(t u_{2}^{\prime}(t)\right)+\frac{1}{s^{2}} U_{2}(s)-\frac{1}{s^{2}}+\frac{1}{s^{2}} £\left(t u_{1}(t)\right) \\
U_{2}(s) & =\frac{2}{s}-\frac{1}{s} £(t v(t))+\frac{1}{s} V(s)-\frac{1}{s} U_{1}(s)+£((t-1) \exp (t)) \\
v(t) & =t u_{1}+\exp (t)-t \sin (t)
\end{aligned}
$$

In this line the $m t h$-order deformation equation has the form

$$
\begin{aligned}
U_{1, m}(s)-\chi_{m} U_{1, m-1}(s) & =h_{1} \Re_{1, m}\left(\vec{U}_{1, m-1}(s)\right) \\
U_{2, m}(s)-\chi_{m} U_{2, m-1}(s) & =h_{2} \Re_{2, m}\left(\vec{U}_{2, m-1}(s)\right) \\
v_{m}(t)-\chi_{m} v_{m-1}(t) & =h_{3} \Re_{3, m}\left(\vec{v}_{m-1}(t)\right), m=1,2,3, \ldots
\end{aligned}
$$

or

$$
\begin{align*}
U_{1, m}(s) & =\chi_{m} U_{1, m-1}(s)+h_{1} \Re_{1, m}\left(\vec{U}_{1, m-1}(s)\right) \\
U_{2, m}(s) & =\chi_{m} U_{2, m-1}(s)+h_{2} \Re_{2, m}\left(\vec{U}_{2, m-1}(s)\right)  \tag{8}\\
v_{m}(t) & =\chi_{m} v_{m-1}(t)+h_{3} \Re_{3, m}\left(\vec{v}_{m-1}(t)\right), m=1,2,3, \ldots
\end{align*}
$$

where

$$
\begin{aligned}
\Re_{1, m}\left(\vec{U}_{1, m-1}(s)\right) & =U_{1}(s)-\frac{1}{s^{2}} £\left(t u_{2, m-1}^{\prime}(t)\right)-\frac{1}{s^{2}} U_{2, m-1}(s) \\
& -\frac{1}{s^{2}} £\left(t u_{1, m-1}(t)\right)-\frac{1}{s^{2}}\left(1-\chi_{m}\right) \\
\Re_{2, m}\left(\vec{U}_{2, m-1}(s)\right) & =U_{2, m-1}(s)+\frac{1}{s} £\left(t v_{m-1}(t)\right)-\frac{1}{s} V_{m-1}(s)+\frac{1}{s} U_{1, m-1}(s) \\
& -\left(\frac{2}{s}+£((t-1) \exp (t))\right)\left(1-\chi_{m}\right) \\
\Re_{3, m}\left(\vec{v}_{m-1}(t)\right) & =v_{m-1}(t)-t u_{1, m-1}-(\exp (t)-t \sin (t))\left(1-\chi_{m}\right)
\end{aligned}
$$

According to the initial condition in (8), we can choose the initial guess of $U_{i}(s)$ and $v(t)$ as follows:

$$
U_{1,0}(s)=\frac{1}{s^{2}}, U_{2,0}(s)=\frac{2}{s}, v_{0}(t)=1
$$



Figure 1. The $h_{i}$-curve of 5 th-order approximation for $u_{i}(0.2)$ and $v(0.2)$.

Then the solution is

$$
\begin{aligned}
& u_{i}(t)=\sum_{m=0}^{\infty} u_{i, m}(t), i=1,2 \\
& v(t)=\sum_{m=0}^{\infty} v_{m}(t)
\end{aligned}
$$

The proper values of $h_{1}, h_{2}, h_{3}$ found from the $h_{i}$-curve shown in Figure 1, it is clear that the series of $u_{i}(t), v(t)$ convergent when $-1.6 \leq h_{i} \leq-0.3 \quad i=1,2,3$. Using $h_{1}=h_{2}=h_{3}=-1$ in (8) we find that

$$
\begin{aligned}
& u_{1}(t)=\sum_{m=0}^{\infty} u_{1, m}(t)=t-\frac{t^{3}}{6}+\frac{t^{5}}{120}-\frac{t^{7}}{5040}+\frac{t^{9}}{362880}-\cdots \\
& u_{2}(t)=\sum_{m=0}^{\infty} u_{2, m}(t)=1+1-\frac{t^{2}}{2}+\frac{t^{4}}{24}-\frac{t^{6}}{720}+\frac{t^{8}}{40320}-\cdots \\
& v(t)=\sum_{m=0}^{\infty} v_{m}(t)=1+t+\frac{t^{2}}{2}+\frac{t^{3}}{6}+\frac{t^{4}}{24}+\frac{t^{5}}{120}+\cdots
\end{aligned}
$$

The obtained series solutions are the Taylor series expansion of the exact solutions $u_{1}(t)=\sin (t), u_{2}(t)=\cos (t)+1, v(t)=\exp (t)$.
Example 2. Consider the system of nonlinear DAEs of three variables:

$$
\begin{align*}
u_{1}^{\prime}-u_{2}+t^{2} v & =t^{3} \\
u_{2}^{\prime}-(t+1) u_{1} & =-t \sinh (t)  \tag{9}\\
u_{2} v-t \cosh (t) & =0, u_{1}(0)=0, u_{2}(0)=1, v(0)=0
\end{align*}
$$

the exact solution is given as $u_{1}(t)=\sinh (t), u_{2}(t)=\cosh (t), v(t)=t$.

To derive the solution, take the Laplace transform of both sides of (9) we get

$$
\begin{aligned}
s U_{1}(s)-U_{2}(s)+£\left(t^{2} v(t)\right) & =£\left(t^{3}\right) \\
s U_{2}(s)-1-£\left((t+1) u_{1}(t)\right) & =£(-t \sinh (t)) \\
£\left(u_{2}(t) v(t)\right)-£(t \cosh (t)) & =0
\end{aligned}
$$

or

$$
\begin{aligned}
U_{1}(s) & =\frac{1}{s} U_{2}(s)-\frac{1}{s} £\left(t^{2} v(t)\right)+£\left(t^{3}\right), \\
U_{2}(s) & =\frac{1}{s} £\left((t+1) u_{1}(t)\right)+\frac{1}{s} £(-t \sinh (t))+\frac{1}{s}, \\
£\left(u_{2}(t) v(t)\right)-£(t \cosh (t)) & =0 .
\end{aligned}
$$

The LHAM has the form

$$
\begin{aligned}
U_{1, m}(s)-\chi_{m} U_{1, m-1}(s) & =h_{1} \Re_{1, m}\left(\vec{U}_{1, m-1}(s)\right) \\
U_{2, m}(s)-\chi_{m} U_{2, m-1}(s) & =h_{2} \Re_{2, m}\left(\vec{U}_{2, m-1}(s)\right), \\
v_{m}(t)-\chi_{m} v_{m-1}(t) & =h_{3} \Re_{3, m}\left(\vec{v}_{m-1}(t)\right), m=1,2,3, \ldots
\end{aligned}
$$

where

$$
\begin{aligned}
& \Re_{1, m}\left(\vec{U}_{1, m-1}(s)\right)=U_{1, m-1}(s)-\frac{1}{s} U_{2, m-1}(s)+\frac{1}{s} £\left(t^{2} v_{m-1}(t)\right)-£\left(t^{3}\right)\left(1-\chi_{m}\right), \\
& \Re_{2, m}\left(\vec{U}_{2, m-1}(s)\right)=U_{2, m-1}(s)-\frac{1}{s} £\left((t+1) u_{1, m-1}(t)\right)-\frac{1}{s}(£(-t \sinh (t))+1)\left(1-\chi_{m}\right), \\
& \Re_{3, m}\left(\vec{v}_{m-1}(t)\right)=£\left(\sum_{i=0}^{m-1} u_{2, i}(t) v_{m-i-1}(t)\right)-£(t \cosh (t))\left(1-\chi_{m}\right), m=1,2,3, \ldots
\end{aligned}
$$

According to the initial condition in (9), we can choose the initial guess of $U(s)$ and $v(t)$ as follows:

$$
U_{1,0}(s)=0, U_{2,0}(s)=\frac{1}{s}, v_{0}(t)=0
$$

Hence, the mth-order deformation equations can be given by

$$
\begin{align*}
U_{i, m}(s) & =\chi_{m} U_{i, m-1}(s)+h_{i} \Re_{i, m}\left(\vec{U}_{m-1}(s)\right), i=1,2, \\
v_{m}(t) & =\chi_{m} v_{m-1}(t)+h_{3} \Re_{3, m}\left(\vec{v}_{m-1}(t)\right), m=1,2,3, \ldots \tag{10}
\end{align*}
$$

subject to the initial condition

$$
u_{i, m}(0)=v_{m}(0)=0, \quad i=1,2 .
$$

If $h_{1}=h_{2}=h_{3}=-1$ in (10), then we obtain the following series solution

$$
\begin{aligned}
& u_{1}(t)=u_{1,0}(t)+\sum_{m=1}^{\infty} u_{1, m}(t)=t+\frac{t^{3}}{6}+\frac{t^{5}}{120}+\frac{t^{7}}{5040}+\frac{t^{9}}{362880}+\cdots \\
& u_{2}(t)=u_{2,0}(t)+\sum_{m=1}^{\infty} u_{m}(t)=1+\frac{t^{2}}{2}+\frac{t^{4}}{24}+\frac{t^{6}}{720}+\frac{t^{8}}{40320}+\frac{t^{10}}{3628800}+\cdots \\
& v(t)=v_{0}(t)+\sum_{m=1}^{\infty} v_{m}(t)=t+0+0+\cdots
\end{aligned}
$$

The obtained series solutions are the Taylor series expansion of the exact solutions $u_{1}(t)=\sinh (t), u_{2}(t)=\cosh (t), v(t)=t$.

Example 3. Consider the following system of differential-algebraic equations

$$
\begin{align*}
u_{1}^{\prime}(t) & =u_{1}(t)-u_{2}(t) v(t)+\sin (t)+t \cos (t), \\
u_{2}^{\prime}(t) & =t v(t)+u_{1}^{2}(t)+\sec ^{2}(t)-t^{2}\left(\sin ^{2}(t)+\cos (t)\right)  \tag{11}\\
v(t) & =u_{1}(t)+t(\cos (t)-\sin (t)), u_{1}(0)=u_{1}(0)=v(0)=0,
\end{align*}
$$

the exact solution $u_{1}(t)=t \sin (t), u_{2}(t)=\tan (t), v(t)=t \cos (t)$.
To derive the solution, take the Laplace transform of both sides of (11) we get

$$
\begin{aligned}
s U_{1}(s) & =U_{1}(s)-£\left(u_{2}(t) v(t)\right)+£(\sin (t)+t \cos (t)) \\
s U_{2}(s) & =£(t v(t))+£\left(u_{1}^{2}(t)\right)+£\left(\sec ^{2}(t)-t^{2}\left(\sin ^{2}(t)+\cos (t)\right)\right), \\
v(t) & =u_{1}(t)+t(\cos (t)-\sin (t))
\end{aligned}
$$

or

$$
\begin{aligned}
U_{1}(s) & =\frac{1}{s} U_{1}(s)-\frac{1}{s} £\left(u_{2}(t) v(t)\right)+\frac{1}{s} £(\sin (t)+t \cos (t)), \\
U_{2}(s) & =\frac{1}{s} £(t v(t))+\frac{1}{s} £\left(u_{1}^{2}(t)\right)+\frac{1}{s} £\left(\sec ^{2}(t)-t^{2}\left(\sin ^{2}(t)+\cos (t)\right)\right), \\
v(t) & =u_{1}(t)+t(\cos (t)-\sin (t)) .
\end{aligned}
$$

The LHAM has the form

$$
\begin{aligned}
U_{1, m}(s)-\chi_{m} U_{1, m-1}(s) & =h_{1} \Re_{1, m}\left(\vec{U}_{1, m-1}(s)\right), \\
U_{2, m}(s)-\chi_{m} U_{2, m-1}(s) & =h_{2} \Re_{2, m}\left(\vec{U}_{2, m-1}(s)\right), \\
v_{m}(t)-\chi_{m} v_{m-1}(t) & =h_{3} \Re_{3, m}\left(\vec{v}_{m-1}(t)\right), m=1,2,3, \ldots
\end{aligned}
$$

where

$$
\begin{aligned}
& \Re_{1, m}\left(\vec{U}_{1, m-1}(s)\right)=U_{1, m-1}(s)-\frac{1}{s} U_{1, m-1}(s)+\frac{1}{s} £\left(\sum_{i=0}^{m-1} u_{2, i}(t) v_{m-i-1}(t)\right) \\
&-\frac{1}{s} £(\sin (t)+t \cos (t))\left(1-\chi_{m}\right), \\
& \Re_{2, m}\left(\vec{U}_{2, m-1}(s)\right)=U_{2, m-1}(s)-\frac{1}{s} £\left(t v_{m-1}(t)\right)-\frac{1}{s} £\left(\sum_{i=0}^{m-1} u_{1, i}(t) u_{1, m-i-1}(t)\right) \\
&-\frac{1}{s} £\left(\sec ^{2}(t)-t^{2}\left(\sin ^{2}(t)+\cos (t)\right)\right)\left(1-\chi_{m}\right), \\
& \Re_{3, m}\left(\vec{v}_{m-1}(t)\right)=v_{m-1}(t)-u_{1, m-1}(t)-(t(\cos (t)-\sin (t)))\left(1-\chi_{m}\right), m=1,2,3, \ldots
\end{aligned}
$$

According to the initial condition in (11), we can choose the initial guess of $U(s)$ and $v(t)$ as follows:

$$
U_{1,0}(s)=0, U_{2,0}(s)=0, v_{0}(t)=0
$$

Hence, the mth-order deformation equations can be given by

$$
\begin{align*}
U_{i, m}(s) & =\chi_{m} U_{i, m-1}(s)+h_{i} \Re_{i, m}\left(\vec{U}_{i, m-1}(s)\right), i=1,2, \\
v_{m}(t) & =\chi_{m} v_{m-1}(t)+h_{3} \Re_{3, m}\left(\vec{v}_{m-1}(t)\right), m=1,2,3, \ldots \tag{12}
\end{align*}
$$

subject to the initial condition

$$
u_{i, m}(0)=v_{m}(0)=0, i=1,2 .
$$

By plotting the $h_{i}$-curves at high enough order approximation, one can find the proper values $h_{1}, h_{2}, h_{3}$. It is clear that the series of $u_{i}(t), v(t)$ are convergent when


Figure 2. The $h_{i}$-curve of 8th-order approximation for $u_{1}(0.1), u_{2}(0.4)$ and $v(0.3)$ of example 3 .
$-1.4 \leq h_{i} \leq-0.45, i=1,2,3$; so, if we set $h_{1}=h_{2}=h_{3}=-1$ in (12), then we obtain the following series solutions

$$
\begin{aligned}
& u_{1}(t)=u_{1,0}(t)+\sum_{m=1}^{\infty} u_{1, m}(t)=t^{2}-\frac{t^{4}}{6}+\frac{t^{6}}{120}-\frac{t^{8}}{5040}+\frac{t^{10}}{362880}+\cdots \\
& u_{2}(t)=u_{2,0}(t)+\sum_{m=1}^{\infty} u_{m}(t)=t+\frac{t^{3}}{3}+\frac{2 t^{5}}{15}+\frac{17 t^{7}}{315}+\frac{62 t^{9}}{2835}+\cdots \\
& v(t)=v_{0}(t)+\sum_{m=1}^{\infty} v_{m}(t)=t-\frac{t^{3}}{2}+\frac{t^{5}}{24}-\frac{t^{7}}{720}+\frac{t^{9}}{40320}+\cdots
\end{aligned}
$$

which are the same as the solutions given by F. Soltanian, S.M. Karbassi, M.M. Hosseini [19] using He's variational iteration method.

## 3. Conclusion

A combined form of the Laplace transform method with Homotopy analysis method is effectively used to handle linear and nonlinear for system of differential-algebraic equations. The main advantage of the method is its fast convergence to the solution. Moreover, it avoids the volume of calculations that required by other existing analytical methods. In practice, the utilization of the method is straightforward if some symbolic software as Matlab is used to implement the calculations. The new method leads to higher accuracy and simplicity, and in all cases the solutions obtained are easily programmable approximates to the analytic solutions of the original problems with the accuracy required. The proposed scheme can be applied for other nonlinear equations.

## References

[1] U.M. Ascher and P. Lin, Sequential regularization methods for higher index differential-algebraic equations with constraint singularities: the linear index-2 case, SIAM J. Anal. 33 (1996), 19211940.
[2] F. Awawdeh, H.M. Jaradat and O. Alsayyed, Solving system of DAEs by homotopy analysis method, Chaos, Solitons Fractals 42 (2009), 1422-1427.
[3] K.E. Brenan, S.L. Campbell and L.R. Petzold, Numerical solution of initial-value problems in differential algebraic equations, Classics in Applied Mathematics 14, second ed., SIAM, Philadelphia, PA, 1996.
[4] P.N. Brown, A.C. Hindmarsh and L.R. Petzold, Consistent initial condition calculation for differential-algebraic systems, SIAM J. Sci. Comput. 19 (1998), 1495-1512.
[5] E. Babolian and M.M. Hosseini, Reducing index and spectral methods for differential-algebraic equations, J. Appl. Math. Comput. 140 (2003), 77-90.
[6] J. Butcher and R. Chan, Efficient Runge-Kutta integrators for index-2 differential algebraic equations, Math. Comput. 67 (1998), 1001-1021.
[7] E. Celik and M. Bayram, On the numerical solution of DAEs by Pade series, Appl. Math. Comput. 137 (2003), 151-160.
[8] S.L. Campbell and C.W. Gear, The index of general nonlinear DAEs, Numer. Math. 72 (1995), 173-196.
[9] P. Deuflhard, E. Hairer, J. Zugck, One step and extrapolation methods for differential-algebraic systems, Numer. Math. 51 (1987), 501-516.
[10] C. Gear, Differential algebraic equations index transformations, SIAM J. Sci. Statist. Comput. 9 (1988), 39-47.
[11] E. Griepentrog and R. März, Differential-Algebraic Equations and Their Numerical Treatment, Teubner Texte zur Mathematik, Teubner- Verlag, Leipzig, 1986.
[12] M.M. Hosseini, An index reduction method for linear Hessenberg systems, J. Appl. Math. Comput. 171 (2005), 596-603.
[13] M.M. Hosseini, Numerical solution of linear differential algebraic equations, J. Appl. Math. Comput. 162 (2005), 7-14.
[14] M.M. Hosseini, Reducing index method for differential algebraic equations with constraint singularities, J. Appl. Math. Comput. 153 (2004), 205-214.
[15] P. Kunkel and V. Mehrmann, Differential-Algebraic Equations - Analysis and Numerical Solution, EMS Publishing House, Zürich, Switzerland, 2006.
[16] P. Kunkel and V. Mehrmann, Regular solutions of nonlinear differential algebraic equations and their numerical determination, Numer. Math. 79 (1998), 581-600.
[17] S.J. Liao, On the homotopy analysis method for nonlinear problems, Appl. Math. Comput. 47 (2004).
[18] S.J. Liao, Beyond Perturbation: Introduction to the Homotopy Analysis Method, Chapman \& Hall/CRC Press, Boca Raton, 2003.
[19] F. Soltanian, S.M. Karbassi and M.M. Hosseini, Application of He's variational iteration method for solution of differential-algebraic equations, Chaos, Solitons Fractals 41 (2009), 436-445.
(Rahma Al-masaeed, Husein M. Jaradat) Department of Mathematics, Al al-Bayt
University, Jordan
E-mail address: rahmaalrashed@yahoo.com, husseinjaradat@yahoo.com

